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GEOGRAPHY :

] Honours Generic / Regular)

For Honours Genenc
Answer the Questions from any one ‘Option.

_OPTION-A

(Geography of India with reference to
- N-E India)

" Paper : GGY-HG-4016 -
' OPTION-B

( Population and Settlement Geography )
Paper GGY-HG-4026

For Regular

(Geogmphy of India with reference to
‘ N-E India)

Paper : GGY-RC-4016 :
* Full Marks : 60
" Time : Three hours

' The figures in the maryin indicate
. Jull marks for the questions.

Answer either in English or in Assamese,
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OPTION A

( Geography of India with reference to :

. Paper :

1. -‘ Ahswer the followmg quest;oAns :

4%%{@@@%

@

" N-E Indza) _
GGY HG- 4016/GGY RC 4016

. ;1x7=7,

Give the 1ocat10na1 extent of Indla

- olRed c@mﬁ@ﬁm%ﬁm(www
-ElﬁﬂT“ﬁWﬁﬁ“)l

Name the two union territories which
were declared in India recently.
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In Wthh season India gets maximum

amount of rainfall ?

COUS! g SRS WBRSLT I fRetrs z ?
Name the state of -I'ndia', having the
largest population as per 2011 Census.
R0 59 IR o ©IReR wibiReta @
wmt 94l wma m fert)
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(e) What is the sex ratio of Ind1a as per

2011 Census ?

| ~‘<O>>W@$F9mﬁwﬁ WWT@?{R
; sm—f%am '

Name two-east ﬂowmg rivers of
Peninsular India.

mwmm&ﬁ%ﬁamm|

_ Name a wheat producmg state of Indla -
R mm NQ@QWWW%MI

-,'erte the following quest10ns in brief :

2><4 -8

% 5:_{“@3 T il 2
(a)

As per 2011 Census, name the two
districts of Assam having hlghest and
lowest population density. ‘

qanmmﬁwwﬁwmm‘

.W@fﬁW’«‘NWW@WTNWﬁW
(b)

What are the area coverages: of Indla
and Assam ?

 oroT i oo e R
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(e) Iron and Steel industries of Indria

Name two trans-Himalayan tributaries

of the river Brahmaputra. - . SRS TR O foxit Sy
e Sfeas R o= TG T3 AT ;
i o3| 4. Answer any three questions from -the
i | following : i
(d) Mention fwo main characters of | 250
7 monsoon B $elg W -@@a ﬁ?ﬂ H (ﬁm;ﬁ jwtsiﬁ)
| % I
: : CTRR A 757 =1 N pRCes il | (a) Discuss about the major
' : , j physiographic systems of India and
3. Write short notes on : (any three) their characteristics. 2+8=10
' : 5x8=15 A% :
| TR oS- ST O (2199
53 GBRet il 8 (Rizerear fefin) |

hﬁ@mﬁm%mwr

: ' iographic region of India FATY:
(a) Major physiographic reg (b) Discuss the mechanism of Indian

ST Y3 TEFEP DR monsodn. i
(b) Weather characteristics of India - § SIS (M @ W@a AfFatebia e sicetron
R 41 |

B ey Batterh 6 TRl B (¢) Discuss the locational signification of

| ‘ N-E India and its influence on its

_” O3 TP wrfafe N g A growth and development. . 4+6=10

(d) Forest cover of North-East India TG-sjfeeema wgiﬁas CPY W GHEDF
O oo T i iy | e crar® 20 ORI Wi 3|
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(d) Give an outline of industrial systert

()

S
of India and discuss the facttoro
influencing industrial developmezs 10
the country. o

o[
W@wﬁﬁ@@w@ﬁ =rop fl
S

al
Discuss the distribution and potentl ‘

of petroleum resources of India.

iR AT e RS S A
faaca ol

Discuss the technological - and |

institutional factors affecting Indian
agriculture.

mmﬁJﬁﬁ‘wmﬁ%\vﬁﬂW
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OPTION - B _
( Population and Settlement Geography)
Paper : GGY-HG-4026

1. Answer the folloWing questions by choosing
the most appropriate option given against.
each question : : o 1x7=7

weE 2HERT e Tesn! dife Sleesr ¢

(a) ‘Sex ratio’ is defined as
el SReis” (0

(A) ‘the number of females per 1000
-males in the population

2fS Sooo T 7T RAIICS TMe R 7

(B) the number of females per 10000
males in the population

2% s 0000 T 7R RtRIT TfReT FRa

(C) the number of females per 100
males in the population
ofe 500@7—»:91@@%?@16%?{%

'(D) the number of females per 10
males. in the populatlon

oS o & s Fefive AR KA
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" (d) During which decade did the population
of Indla record negatlve growth rate ?

T WWWW&%%‘WW@N
wmmw‘a@ﬂwwﬁ?m | % on vl : |

R

.(A) 1994 (sms)
(B) 1986 (svv)

(0 2000 " (3000)
(D) 2001 (x00%).

() When did the ‘National populatlon i
| pohcy come into effect ?.

(A) 1901-11 ()bob—>>)

(B) 1911-21° (s333-33) -

(C)  '1921-31° | (5535-93%)

(D) 1931-41  (s»03-83)
1 B : . (e). Wh1ch of the following pairs is not ‘twin-
J - ’(¢J): Which of the fonow{ng is not a ‘push. ~ cities’?
' : . factor’ of migration ?

. W@m‘%‘tm ‘Rl oI '

W I UG Wﬂa I Wﬂa ﬂ@?
" (A) Delhi-Ghaziabad

(A) Water shortage B 1 | o e,
| t Wﬁiﬁ ‘ (B Hyderabad-Secunderabad
(B) Unemployment L PAMRRV-(RSERM
- Pt e | (0 Kolkata-Howrah |
' ~ {C)- Medical/ educatlonal facﬂltles L e ULl
R ; g /R W (D) Bengaluru—Mangaluru
| | (D) Epldermc AN RATE
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(ﬂ th1ch one of the followmg pattems of 20 Answer the followmg quesuons in very short .
. settlement is developed along either side _ B L . 2x4=8
. of roads, rivers or canals? o OHe AR WF‘E&@@? ff\'i?n‘ '

" ;:; @Tﬂﬁﬁ TR P I 21, Hﬁﬂ. | (a) What is populatlon pyralmd"P
TR A o o PR B
(4) Squ I L
quare (ﬁeﬁﬁ) ' I ~ {(b) What is meant by growth rate of

_ population’ ?
| W%Ut E (Ko iﬁ {ﬁtﬂ ﬁﬁ {@1?

- (c) Mentlon any two charactenstlcs of rural :

B Linar (e
(©) Starlike (o)

- ( ) CerUlar (Csﬂ?*l@?il) o S ‘ | ' settlement
| (Q)' : \:::cltlhof ;:he followmg states of Indla C’ITSU Eﬁ[ -
. e '
‘ po ” east percentage of urban -(d) What dO you mean by ‘dens1ty of
p at10n ? - . ' . : , population’ ?.

,me WWW{%W%W‘?
Wvﬂ@ H W?W;‘ﬁ?” W\W A

(@A) Sikkim , (Eﬁ o | 2 Write short answers of any three Qf the h
(B) - , ) ‘ . : followmg questlons : : 5x3=15
Crpara (R . o RS ﬁzamr%ﬁ?l? w%@ﬁm
“ achal Pradesh (f&ivet ot ) | ~ (a) Define population geography Dlscuss
(D) Nagaland - (apimre) . B S ts 1nter-relatlonsh1p with demography R
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T R R e
) 1%»;»;{, | Enﬁﬁ mw Wﬁ ﬁVN , ] 4 Answer thf: .foﬂpwing-qgesﬁpns :j »10><~3=j30‘. ‘
(b} - Briefly - disc - - : - - -
uss the . heo: -' » I .
- between I'ul'al antclj_'le basic differences . g (@) Discuss. the factors influencing the
?JFU o ; L urban sgtﬂements | distributiqn_and Qerfsity of p_opulation" o
' A Al PSS e ol | 1o . ".with special réference to the population
¢ G 3] dé‘“”‘{i% - o e -
' o : ' - . .density zones of India.,
{C) Hlera . : _‘ 4_ o : . o '
et n:"hlcally arrange the e TN TG SRS RoIEei
et fn o
nts in fénns oftheirpopu;:;’an - aﬁ@asﬁwauﬁﬁmqwm@emm
TPRIN AKITS 09 o on S (PETR TIRETR IR, S
@ Dis'ﬁngu,ishs R or | &%
B Sh between push fuep: - , SR -
pull factors, of 'migra‘tli:) sh factors anq - ~ '(b) What are the .major components of
o ‘ : - ‘population’ change’ and growth in a

,g“w'i , ﬁ” MW —_— - - ©* region? Discuss in detail the factors
' : . . v rcspoﬁsiblé for steep rise in population
~ of India since 1921.  3+7=10
R R | S | - SopmeTE R 2 3535 B SRl OReS

U R o v e, | ofRefirs @R TEANT Sy T ST
12 . - ' . ' _ ' .
3 (Sem-4/CBCS) G6Y HG 1/2, RE/G 13 -+ Contd.’

. ' ' _ - . ’




or [ &3

ef note on rural to urban

" (J Elaborate the .
(e aborate the meaning op
, » scope and

signiﬁcanCe Of .
o - €nt geography. | - Wite & bri
TS i - 3+4+3=10 | O W on. D different d hi
: S BT e ' - . migration. iscuss di erent demograp! c
SIS 35 | 0 ”%’ﬁ G 9y 7563 - and socio-economic impacts of migration
R AL . - in a.country: . k - 3+7=10
o | - S s AR SR TRAO. S
r/ Sgq » , : :
| e L SO TEER Ao
sooicd ettt ' .

() What dc; yo
u

. m ’

rural Setﬂement ) Ss dlfferent tprS £
i o  diagrams.

(o). Tnree . |
(e). Interpret the Mag
a

. . :
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